Mike Zabrocki (Oct. 1998) 1

HAA (5] 4,1] 3,2] (3, 1,1]

[5] 1 ¢+ +1+q+q* (1+¢*) (@ +¢*+1+q+4q") (a+1)(1+¢%) (P ++1+q+4q")

[4,1] t 1+t+qt+q*t+ ¢t 14+t+q+qt+2¢*t+ ¢ +2¢% +q*t 24t+2q¢+Pt+2qt+3¢%+2¢%> + ¢ 4¢3t +24%
3,2] 2 t(l+t+q+dt+qt)  1+t+242qt+ ¢t +2¢%2 + ¢t? + P (q+1) 2 + Pt +2qt + qt? + 1 + 2t + t2)

[3,1,1] B3 t(1+2+t+q2+¢%) t2+2+t+q+q®+2¢72 +Pt+qt) 1+3t+83+2t2+2qt+2qt3 + 3¢ + ¢33 + >t + 2¢*% + 2 gt?
[2,2,1] 2 (P t+ 1+ +qt) t(L+agtP+ 2+ 26+ +2q2 + gt + ¢*%) tt+1) (g2 + 2+ P2 +2qt +t+q+2)

2,1,1,1] 5 B1+E+t+q®+¢3) 2 (¢t +2t+ 1+ 212 + gt + ¢+ ¢t?) t(1+2qt° +412 + 2+ 2t + 383 + ¢t + 2¢t° + 7 + 2qt?)

(1L,1,1,1,1] ¢ S+ 462 +1+1) (2 +1) (B2t 1) B+1) (2+1) (B + B+ +E+1)
(2,2,1] 2,1,1,1]
(+1+q) (P+P+1+q+¢") (1+4%) (@+D(P+1+q) (P+P+1+q+¢") 1+
(@+1+q) 2Pt +2¢+@+at+q+2+1) (P+1+q) (¢*t+43+ P +2¢* +3¢%t +3q+2qt +3+1)
242t+2q+t2+5qt +5¢%t + 4622 + 2qt2 + ¢* + 3¢°t2 + 23t + ¢*t? (@+1) PP +Pt+ P +4PP + 5%t + 6t +2qt* +2q + 3+ 3t + 12)

144t4+q+ 2 +282 +4qgt+2¢° +4PP + PP + 22 +4 P2 + 3¢ + 2 3+6t+3¢+t3+312+8qt+3qt3 +6¢%2 +3¢% 2 +5¢% +8¢* 2 +6qt®> + ¢> + 3% + 5t

14364+ 2qt 4+ 23 + 482 +t1 4+ 2qt + 5qt3 + 2%t + P12 + 5qt% + 2 ¢°t* (t+1) (3t +t3+3¢* > + 212 +2¢*2 +6qt> + ¢*t + 4t + 5qt + ¢+ 2)
(Pt 1) (g8 + 13+ gt + 12 + gt +21+2) (P +t+1) (Bqtt +t* + 28 + 33 +2qt? + 38> + 4t +qt + 1)
(2t +1) (B + 2+t 4+1) (B2 +1) tE+1) (P+t+1) P+ B+ 2 +t+1) (B2 +1)

(1,1,1,1,1]
(P+1+q) (P++1+q+4q") (1+¢%) (¢+1)°

(g+1)(*+1+q) (4Pt +P+2¢> +3¢*t +3q+2qt +t+4)
(q+1) (5P +43%t+ @ +11¢% +6¢*> + 3¢ +3qt> + 6q + 11 gt + 4t + > +5)
(q+1)(t+1)(6¢% +3qt* +12 +3¢*t +4qt + 3t +¢*> + 3¢ +6)
(t+1) (4> + 3+ 5%+ 31>+ 11> + 6 ¢*> +3¢°t + 6t + 11gt + ¢* + 4q + 5)
t+1) (P +t+1) (dgt® + 3+ 282 +3qt> +2qt + 3t +4+q)

(P+t+1) (T + 8+ +t+1) (2 +1) (t+1)°



